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1. 97 05 &l & e & Tedl, HUAT STUT U9 GRaent aiiT 1. TH. 1.
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fort o fereimifir/a & A &, stegelf o) we IR SfiT ot .o,
IT—T5% Bl IaaT % QA AT B A BT G
TR | TE U B % Ui e 9) 39 d9g # fedr W a9
Fmafar o) feram 1 fopar st | 36 g sregelt S<Er s
Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and
ensure that:
- Serial number of Question Booklet(QB) and OMR
Answer Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR Answer
Sheet. No claim/objection in this regard will be
entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SNTHA SOR-T9% & U fau o aefi frder od
Read all instructions on the reverse of OMR Answer
Sheet.

3. SUHSTR SU-T9% IR Had 7id aid @ige U &1 T4 HY | Hual,
STHS ST & STIAT A G 3T 3T THBIY TEY ST 4
7L
On OMR Answer Sheet, use blue ball point pen only.
Please, fill your Roll No. and other information correctly
in OMR Answer Sheet.

4. gt forelt ws o T weh & arfres T siferd fopd STt € o <9 e
T HAFT AR
If more than one response is marked for a question, it
would be treated as wrong answer.

5. ud® 9T ¥ Ui fasea/md €1 wed R s/ i (A), (B), (C)
3t (D) Sugad I & Gaift ¥ o dfat faswen/mar (E)°
‘A we & gefid ¥
Each question has five options/circles. First four options/
circles (A), (B), (C) and (D) are related to appropriate
answer and fifth option/circle ‘(E)’ is related to ‘Question
not attempted’.

6. TE ST U & for arsedl Y o uH. TR, STR—"eleh I Heiferd
Y9 HEAT & e IR fased (A), (B), (C) ar (D) & ¥ haw Th
Treea/ e &! T St @rge O & W 80 | At st foRdl wew
gﬂwﬁﬁm%a‘rwﬁ%iﬁw@ﬁ “(E)’ &Y T &I

[
To indicate the correct answer, the candidate has to fill
in only one option/circle (A), (B), (C) or (D) with blue
ball point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer
any question then the fifth option/circle ‘(E)’ should be
darkened.
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7. afE faed ¥ 9 B W fehed/ i e T fan T At 98T @
1/34m i Te feram SR
1/3 part of the marks will be deducted for the questions,
if none of the option/circle are darkened.

8. UA% T ITX W UL &k B 1/4 AR BT AR T SO
T 13TE ST AT foRdlt U9 % U 9 o1fs S & B
1/4 part of the mark(s) of each question will be deducted
for each wrong answer. (A wrong answer means an
incorrect answer or more than one answers for any
question).

9. 10 wfeta & aiferes TeAT H fepelt oY Frepe /et 1 orrelf 1T T8 1
Tl feparm T A IY The % faq srry =i HY fear s
If a candidate leaves more than 10 percent questions or
does not darken any of the five options, he/she will be
disqualified for the exam.

10. a1 @l Y UsH & foTg 7 & % Ueb ferebed/ i |7 & A1 e
Tz gifyad & % frg 10 fire aifafie fog smar)

Candidate will be given 10 minutes extra to make sure, if
he/she has filled up any one option/circle for each
questions.

11. afe g7 & fe=it A1 SISl S@hTor § qE01 AT TS Ui Bl fhal
Al YR T ST/ &, Tl SHST BT i Sife J S|
Ifthere is any sort of ambiguity / mistake either of printing
or factual in nature in Hindi or English version of
questions, then the English Version will be treated as final.

12. ol &ia & diadd /sy fearga a1 fedt o geraife e
T SUART TEd afsta &1 afs fper srvaedf & wre O i foefa
Al g TS O SH faes RMIIER e wriars w1 S|
Use of Mobile Phone / Bluetooth Device or any other
electronic gadget in the examination hall is strictly
prohibited. If any such prohibited material is found with
any candidate, strict action will be taken against him/her
as per rules.
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e R H UGS, 3l &1 S S 98 o |resttie g

aifufram, 2022 o dettem sifufem 2023, (Wt § srifaa @t

BT % HLGUTA) % Ted YhaHT aam b g Favarr arm forad 10 ad

T STTSiiEa HIETE a1 3 1 HUS % 6 Taa & | 3 918 % AT Bl

Y wliermett ¥ Tl wv ¥ faafsfa off feam s wear 3

Warning : If a candidate is found copying or using unfair

means or if any unauthorized material is found in his/her

possession, F.I.R will be lodged against him/her in the Police

Station and he/she would be liable to be prosecuted under State

Public Examination (Measures for Preventions of Unfair

Means in Recruitment) Act. 2022 and Amendment Act 2023.

The act has provisions of imprisonment of 10 years to life and

fine up to ¥ 1 crore. Board may also debar him/her permanently

from all future examinations conducted by the Board.

[ Contd...



TUV - C09 |

Rajasthan receives most of its rainfall from

Choose the most appropriate answer from the
options given below:

(A) South - east monsoon

(B) East - west monsoon

(C) North - south monsoon

(D)  South - west monsoon

(E)  Question not attempted

TS H 3Afershan auf o WTH Bl
2
i few T fereredt # @ @@ I9GH I -

(A)  aferor-gelf AT
(B) yef-utart AT
(C) IT-aferoft qrgT
(D)  SfEroratat amE
(E) i yy

Several types of grasses are found in the thorn
forests of Rajasthan.

Identify the main grass among them.

Choose the most appropriate answer from the

options given below:

(A) Sevan
(B) Fog
(C) Kair
(D) Jharber

(E)  Question not attempted

TISTEIT 3 Shted a1 B ohg WL <hl SITE UTAT STl 2|
I HeH @ T Sh e ity

frfafiaa faeredt o & @aifae 3ug® ST IA:
(A) T

(B) AT

©)

(D) FRN

(E) 3rgaid 9

X
k%

Which of the following National parks of
Rajasthan is included in the list of World
Heritages?

Choose the most appropriate answer from the
options given below:

(A) Keoladeo National Park

(B) Ranthambore National Park

(C) Sariska Sanctuary

(D) Mukundra Hills Sanctuary

(E)  Question not attempted

TSTEAT T -1 T 3o o foerd &=t &
e fomam T 22

Frmaferfia frched! § & wratfire 379w S
(A)  HacIRd TSR I

(B) TR TSR 3T

(C) Wit AR

(D) TS URTEl ST

(E) raid 9

The ratio of milk and water in 64 liters of a
mixture is 5:3. What amount of milk should be
added in the mixture to make the ratio 9:4?

(A) 14 liters

(B) 16 liters

(C) 15 liters

(D) 12 liters

(E)  Question not attempted

64 T o feror 7 g ST 7 ST 5:3 81 56
firsror 7 SfR fordT g ST ST foF 3 S1gaTar 9: 4 =
S

(A) 14X
(B) 16dlX
(C) 15dftX
(D) 12X
(E) 3Iqdia g4
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If 8A = 9B = 10C, then A:B:C is:

afd 8A = 9B = 10C, @ A:B:C &:

(A) 40:45:36

(B) 45:40:48

(C) 32:36:45

(D) 45:40:36

(E)  Question not attempted / ﬂ@ﬁ'ﬁﬁ Iq

A sum of ¥ 300 is to be divided among P, Q and
R in such a way that Q gets ¥ 30 more than P and
R gets T 60 more than Q. Then the ratio of their
shares is:

300 I TMRTP, Q T R # 38 Yhr sffeAT 8 foh Q
1 P H T 30 314k ITH & 3T R &I Q § T 60 3y
ST €1 <6 feea & e

(A) 3:4:5

(B) 3:4:6

(©) 2:3:5

(D) 4:5:6

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

The ratio of the present ages of the Akshat,
Bhuvan, Sandeep and Varun is 7:9:10:13. The
eldest is 12 years older than the youngest. What
will be the age of Sandeep 5 years from now?
(A) 30years (B) 35years

(C) 25 years (D) 20 years

(E)  Question not attempted

&, I, T T 07 bl TAH AT H ST
7:9:10:13 81 379 & He® IS, @ DI Y 12 I§ &Il

21 6 T 3T & 5 T T I T A2
(A) 30a9 (B) 35a9
(C) 2598 D) 2098
(E) SFfaiaws
5k

Name the law Minister of Rajasthan State as on
September 20247

Choose the most appropriate answer from the
options given below:

(A) Jogaram Patel

(B)  Arjun Ram Meghwal

(C) Bhajanlal Sharma

(D) Bhupendra Yadav

(E)  Question not attempted

ToiaR 2024 3 STTAR TSTEAT TS % HI Al i
2

frfaiad fosredt # @ @aifare 3ugw 3ut 91:
(A) SR 9ot

(B) 3T T HeraTe

(C) VST IHT

(D) U= A

(E) I g

Among the following MPs of the Present Lok
Sabha, who has been elected the maximum
number of times to the Lok Sabha?

Choose the most appropriate answer from the
options given below:

(A) Shri Gajendra Singh Shekhawat

(B)  Shri Dushyant Singh

(C) Smt Mahima Kumari Mewar

(D)  Shri Ummed Ram Beniwal

(E)  Question not attempted

frfefaa & & 9 adqW AREIT GiEE gl
e S WAl o fore faifea gam a2
et foeedl & & @atfare Sugw o€ I
(A) T foE TrEmEa
B) g fie
(C)  ftwelt wfewT FHT HaTe
(D) it rig I AT
(E) 3Idia g
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10 Name the Chairperson (as on 30 September 2024)
of SEBI?
Choose the most appropriate answer from the
options given below:
(A) Ajay Tyagi
(B) Madhabi Puri Buch
(C) Shakti Kanta Das
(D) U.B. Sinha
(E)  Question not attempted
Tl (SEBI) & 37&87 hi- 82 (30 foraweik 2024 k)
frfafad faeredt 4 & @aifaes sag® ST IH:
(A) IS T (B) el i [
(C) vfewde™m (D) 37 o=
(E) a9

11  Forests and waste land belonging to the
government and private individuals or
communities are called:
Choose the most appropriate answer from the
options given below:
(A) Protected forests
(B) Unclassed forests
(C) Reserved forests
(D) Private forests
(E)  Question not attempted
IR 3 it SAfrT STorem aHer § Seiterd o
HI 3TFT A FEard! &
FfeTfiad foshedt § @ waiferes 3ug S I
(A) Uaaaa (B)  3afishd =
(C) IIRfaaaT (D) fsftaT
(E) 3rgaild o

12 The Sitamata Wildlife Sanctuary is located at:
Choose the most appropriate answer from the
options given below:
(A) Chittorgarh (B) Alwar
(C) Bharatpur (D) Jaipur
(E)  Question not attempted
HTaT a=rsia STy feord 2:
frfeiad fospeat # & wafiere 3ug ST
(A) fodlemed (B) s@Ed
(C) waqeH (D) SERH
(E) Srfaiays

TUV - C09 | ***
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14

Which of the following natural resources do not
require conservation?

Choose the most appropriate answer from the
options given below:

(A) Water (B) Air

(C) Soil (D)
(E)  Question not attempted

frefrfaa STt GaTeRT 3 & FRe fore EeT
T TR TE &2

Solar energy

frffiad faeredt 3 & waifires Suge 3o TH:
(A) & (B) =Y

(€) & (D) "R

(E) rgaid o

The Human alimentary canal consists of:

a. Food pipe/ oesophagus
b. Stomach

c. Liver

d. Intestine

€. Rectum

Choose the most appropriate answer from the
options given below:

(A) a,b,canddonly

(B) a,b,dandeonly

(C) b, c,dandeonly

(D) a,banddonly

(E)  Question not attempted

a. T

b. MR

C. Johd

d. 3q

e. HARTT

et o e forepedt § & waifireh Iugh SO A -
(A) HdTa,b,c3Nd
(B) dcta,b,d3MWe
(C) aab,c,d3Me
(D) dcTa, b3 d
(E) g gy
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Match List-I with List-I1:
List-1
a. Blood plasma L

List-IT
Cells are suspended
in it.
b. Haemoglobin II. Binds with oxygen
and carries it to
different parts of
the body.
c.  White blood cells III. Clot formation
d. Platelets IV. Fight against germs
ERISEXIPE IR IEARECIEEAIS IS

TEt-1 Het-11
a. T wATSHT I ISR gad
fetfora gt &1
SRS & STeifera
HEESREIED
fafar= vmTt & wgamdt &
c.  AdTH RINERT 111 et fmfor
d. whecied IV. Tmopstt § AT

Choose the most appropriate answer from the

b.  dHeAfeT L.

options given below:

i faw o fereredt & @ @atferes g 3¢ -
(A) a-Lb-ILc-IV,d-1II

B) a-ILb-1V,c-IL,d-I

(©) a-I,b-1V,c-1II,d-1I

(D) a-ILb-Lc-IV,d-II

(E)  Question not attempted / iﬂﬂﬁ'ﬁﬁ 99

On an average, how many times does an adult
human being at rest in a minute breathes in and
out?

R T Rl 7 Tk T AT T e | Sfed
foRaT o |ifE ST 31K Biear &2

Choose the most appropriate answer from the
options given below:

frfeRaa fospeat # & @afiere 3ug ST
(A) 9-11 (B) 32-34

(©) 15-18 (D) 19-22

(E)  Question not attempted / H@ﬁﬁﬁ Iq

X
k3

17

18

Rapid uncontrolled cell division or tumor
formation which causes intolerable pains at a
later stage are the causes and symptoms of which
of the following diseases?

Choose the most appropriate answer from the
options given below:

(A) Hemophilia (B)
(C) Cancer (D)

Hepatitis A

Swine flue

(E)  Question not attempted

e ARG HIRTER fsH sTeET ST (33
Tty oo sre & stoea <€ gan 8, 3 =fafeaa
H ¥ forer TT o S0 ST Fe0T &2
Freiferfiae bt 8 & watfores 3ugw o0
(A) dfeferr  (B) el A

(C) & (D) ¥&TeH W]

(E) 3Idia g

Which of the following salts in ‘mineral mix’
prevents goitre in cows?
Choose the most appropriate answer from the
options given below:
(A) Cobalt Chloride
(B) Sodium Hydroxide
(C) Potassium Iodide
(D)  Sodium Carbonate
(E)  Question not attempted
fafafad & & wH-a1 davr @t fasmr § fiam
TR H TETEe (ST T) § = g @2
frfafad fosreat # @ watfas sagw S0 TH:
(A) HiEE FAES
(B) e TmsgEs
(C) dUIRTW eEe
(D) wifeTH FEHeE
(E) I o

[ Contd...
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The highest milk yielding breed of a cow of
Indian origin is:

Choose the most appropriate answer from the
options given below:

(A) Sahiwal

(B) Sindhi

(C) Haryana

(D) Tharparkar

(E)  Question not attempted

IR T 6T Faifereh g8 o T T ohl 1 &
frfafiaa faeredt o & @aifae 39g® ST IA:
(A) ErEEre

B) ot

(C) et

(D) UTUTERT

(E) Srfaiayy

Feeding large doses of vitamin ‘D’ one week
before calving protects the cow against:

Choose the most appropriate answer from the
options given below:

(A) Foot and mouth disease

(B) Udder Congestion

(C) Ketosis

(D) Milk fever

(E)  Question not attempted

TS I SH < o Teh THTE T&cd 7T ahl i <€
1 9 T & g ¥ & T o Rttt G @
TS BT &

frfafaa faeredt o & @aifaes 3ug® ST IA:
(A) T I HEUehT UT (Fe TE WISy feuv)
(B) ol H HFaH

(C) Hrafam

(D) Toes Hra

(E) 3rgaid 9

X
k%
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23

The full form of N. F. E. with reference to
nutrition of cattle is:-

Choose the most appropriate answer from the
options given below:

(A) Nickel Foam Extract

(B) Nitrate Fluorine Ether

(C) Nitro Fluoro Extract

(D) Nitrogen Free Extract

(E)  Question not attempted
HATIIT o G190 % Haw H T, TF. 3. 1 QU A 2-
frefetRad fospedt o & aafferes 3ag® ST T:
(A) e B TEae

(B) g Tl o

(C) M el T

(D) IS 361 TG

(E) raid 9

The Gestation period of a cow is:
Choose the most appropriate answer from the
options given below:

(A) 320 days (B) 281 days

(C) 101 days (D) 194 days

(E)  Question not attempted

TR T MR T AT

frfafad foereat 7 @ watfae 3ag® SR TH:
(A) 320f B) 281fF

() 101fm (D) 194

(E) raid 9

Antibiotics are products of
Choose the most appropriate answer from the
options given below:
(A) Fungi and bacteria
(B) Fungi and viruses
(C) Bacteria and viruses
(D) Parasites and bacteria
(E)  Question not attempted
EIGSIEERUGEIRTITE)) % 3G 2
frefeTRad fospedt @ & wafieres Iag ST
(A) e ARSI (B) ek N ooy
(C)  Sftamyy SR fowmoy (D) oXsfielt SR sfamy
(E) ¥ g
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24  Match List-I with List-I1:
List-I List-11
(Lakes of (Cities/towns
Rajasthan) where located)
a.  Ana Sagar . Churu
b.  Tal Chhapar II. Tonk
c. Sardar Samand III. Ajmer
d. Tordi Sagar IV. Pali
=t -1 gt -11 | gafora i :
Tt -1 et -11
(ST T (/9T A&
T arafera &)
a. IATEMY L 3&
b,  ARIBIW . 2
c. UEREHT L 3R
d. IRSEIR V. ureft
Choose the most appropriate answer from the
options given below:
e fau e forskedt # @ wrarfferes 3uge ST AN
(A) a-TLb-ILc-1d-IV
(B) a-NLb-Lc-IV,d-1I
(C) a-Lb-IV,c-Id-1II
(D) a-1V,b-ILc-1II,d-1I
(E)  Question not attempted / H@ﬁﬁﬁ Iq
25  Besides Gogaji, which other folk deity is revered
as the God of Serpents?
Choose the most appropriate answer from the
options given below:
(A) Pabuji (B) Ramdevji
(C) Tejaji (D) Mallinathji
(E)  Question not attempted
TS o STATAT Shi- ek ST bl |UT o qardT
Y YT ST 27
frfafaa faeredt § & @aifae 39g® 3T IA:
(A) Ut (B)  Tmgast
(C) SIS (D) HodHTYST
(E) 3rgaid 9
TUV - C09 | ***
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The life history of saints which is available in
poetry form in Rajasthani language is known as:
Choose the most appropriate answer from the
options given below:

(A) Vaat (B)
(C) Prakas (D)

Parchi

Marasya

(E)  Question not attempted

T T ST JTa i foh TSTEITHT AT & e &9 §
IS €, HeT ST 8:

frfaRaa fosredt # @ @aifae 3ugw 3ut 91
(A) 91 (B) U=t

(C) v&™ (D) w=T

(E) rgaid o

As per the Census 0f 2011, the population density
in the state of Rajasthan was persons
per square km.

201 1 T STIOTT o ST, TSTEAT {53 S ST
=afeh 9fd 3t foReT <l

Choose the most appropriate answer from the

Ydcd

options given below:

et forshedt 3 @ warfferss 3uge sat :
(A) 165 (B) 201
(C) 325 (D) 211

(E)  Question not attempted / 3774 a9

According to Census 2011 which of the following
states has a population less than Rajasthan?

(A) Maharashtra (B) Bihar

(C) WestBengal (D) Odisha

(E)  Question not attempted

201 1 3T SFRTUAT o AR Frforiaa 3 9 forg T

T STEET TSTE § 9 off?

(A) HERTL B) fwr
(C) uPltmsme (D) oAifedr
(E) 3Idia g
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According to the 2011 Census, the sex ratio in
Rajasthan was:

2011 3 SFTTOMT o TR TSTEA T AT SFam
oqr:

Choose the most appropriate answer from the
options given below:

frfafaa faeredt o & @aifaes 3ag® ST IA:
(A) 926 (B) 921

(©) 940 (D) 877

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

The LCM of two numbers is 8 times their HCF
and sum of LCM and HCF is 108. If one of the
numbers 1s 32, then what is the other number?

a1 "It 1 LCM 399 HCF T 3713 THT @ qeT
LCM & HCF 3T 31T 108 81 IS 374 & Teh €& 32
2, Y et w2 22

(A) 36 B) 32

) 30 (D) 28

(E)  Question not attempted / ﬂ@ﬁﬁ?‘f Iq

Three numbers are in the ratio 4:5:6 and their
HCF is 8. The LCM of the numbers is:

i ST 4:5:6 o STATG H & S IR HCF 8 2
TSI T LCM &

(A) 960 (B)
(©) 240 (D) 120

480

(E)  Question not attempted / ag?lﬁ?r Iq

What is the LCM of 20.4, 1.2, 8 ?

20.4, 1.2, 8 T LCM T &2

(A) 408 (B) 8l6

(C) 8l.6 (D) 408

(E)  Question not attempted / H@ﬁﬁﬁ Iq

X
k%

33

34

35

The price of milk is fixed on the basis of the
content in it.
Choose the most appropriate answer from the

options given below:

(A) Lactose (B) Protein

(C) Fat (D) Carbohydrate

(E)  Question not attempted

R CECCERIS T 1 /AT o6 TR
T 7 fofa SiTar 2

frfaiad fosredt # @ @aifae 3ugw I I1:
(A) dFR" (B) WA

(C) = (D) ETETESS

(E) rgaid o

What percentage of the total milk protein is
casein?

FH, gohad T I fora wfaera ardt 82

Choose the most appropriate answer from the

options given below:

frfaRad foshed 7 @ Fafferes W S I4:
(A) 90 -95% (B) 80 -83%
(C)  60-62% (D) 40 - 45%

(E)  Question not attempted / 3133?!‘&?[ 99

Select the green fodder from the following:
Choose the most appropriate answer from the
options given below:
(A) Berseem and lucerne
(B) Mustard cake
(C) Paddy Straw
(D) Oathay
(E)  Question not attempted
Fr=feafaa o @ & = 1 === Fifs:
frfafad fasreat 7 @ watfae 3ag® S0 TH:
(A) =T A TEA (B) I o @t
(C) gFFYE (D) @
(E)  3Igdita g
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36

Which river of Rajasthan originates from the
place Minda of the mountains of Vindhyachal?
Choose the most appropriate answer from the
options given below:

(A) Luniriver (B)
(C) Chambal river (D)
(E)  Question not attempted

TSR il -6 7t ffeameret gaid o fiver s
& freherdt 82

Mahi river

Banganga river

Frefean Fasbed 8 & aarffires Swa o
(A) TR (B) HEIFE
(C) vt 4T (D) STORAT &t
(E) 3Tl o1
37  Which of the following is the biggest artificial
lake of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Jaisamand (B) Didwana
(C) Pichola (D) Udai Sagar
(E)  Question not attempted
frafafaa & @ Teram it go@ 7€t whm e
FIA-E B2
frfafaa faeredt @ & @aifaes 3ag® ST IA:
(A) SEEHS (B) EiedaMr
€) fu=tem (D) 3T ETR
(E) a9
38 In Rajasthan hot, dry and dusty winds start
blowing in summer which is called
Choose the most appropriate answer from the
options given below:
(A) Taku (B) Foehn
(C©) Loo (D) Siroco
(E)  Question not attempted
TSTET # TTSH 3R H T, [ I et i oo =
UCIRAEES T ST 2
fror faw e forehedt § & @ard Suges ST -
(A) R (B) WIed
C) (D) o=t
(E) 3Tl o=
TUV -C09 ] ***

39

40

41

Which of the following is an indigenous breed of
chicken?

Choose the most appropriate answer from the
options given below:

(A) Plymouth (B) Aseel

(C) White leghorn (D) Rhode island red
(E)  Question not attempted
frefafaa & @ w-dt Fape () &t v =t
T B2

frfafad foereat 7 @ waffae sagw® S0 TH:
(A) TARERY (B) €A

(C) WEAEM (D) S AHEAE S

(E) rgaid o

Maru Raikas of Rajasthan are basically:

Choose the most appropriate answer from the
options given below:

(A) Camel herder (B)
(C) Cattle herder (D)
(E)  Question not attempted
TISTET o AT g1 HeTd &:
frfafad fosreat 7 @ watfae 3agw® S0 T
(A) ITHT@R (B) HSHIER

(C) WeRfth=f@® (D) kil o TRATR
(E) 3Idia g

Sheep herder
Goat herder

A part of integration, when was the Rajasthan
Board of Revenue established?

Choose the most appropriate answer from the
options given below:

(A) September 1948 (B) October 1947

(C) November 1949 (D) December 1950
(E)  Question not attempted

AT & 9T o &9 H TSIEIH ToEq e i

TATHT % 852
frfafad fasreat 7 @ waffae 3agw® SR T
(A) Taa=1948  (B) ST&R 1947
(C) TawsR 1949 (D) feEm 1950
(E) g gy

[ Contd...
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Who invented the musical instrument

“Mohan Veena™?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
T <o Gefier arer skt AT foer foham?
Friferfa et & waifies 3w 30 3,
(A) TR Fl

(B) ShSi g

(C) U frgaeTrvg

(D) .t &, ot

(E) 3Tl o1

Karpur Chand Kulish
Jagjit Singh

Pt. Vishwa Mohan Bhatt
Dr. P. K. Sethi

Question not attempted

The Bisalpur Multipurpose Project is built across
which river?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)
fraaq sgseear ufEsHT fofe T e T R 2
ettt frehedt & & waffores Sugw Sw o
(A)
(B)
©
(D)
(E)

Chambal
Mahi
Jakham
Banas

Question not attempted

A
ATEl

STgH

EEIG]
AR 54

X
k%

10
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Which multipurpose project is located at Borkhera
in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Mahi Bajaj Sagar

(B) Rana Pratap Sagar

(C) Jawahar Sagar

(D) Sidhmukh Project

(E)  Question not attempted

-6t SgSeRT TREAISHT Tore H SIdST T
o o B

frfaRaa foeredt # @ waifae 3ugw € I1:
(A)
(B)
(©)
D)
(E)

HTET SIS HIR
TOTT YT HR
SETEL R
g afersT
I RNICRE]

According to Census 2011, which of the following
districts of Rajasthan had the lowest population
growth rate during the decade of 2001-2011?

Choose the most appropriate answer from the

options given below:

(A) Barmer (B) Kota
(C) Ganganagar (D) Jaipur
(E)  Question not attempted

2011 ST % STTER 2001-2011 F G o SN
Tt o freferfaa o & fore et it s afg

LA off?

= faw e forredt & & @a@ Sug ST I:
(A) STEH (B) et

(C) TR (D) SR

(E) 3Idia g

[ Contd...



46  The term such as Udaishahi, Khanjarshahi,
Shivashahi and Vijayashahi etc. are related to
which costume of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Turban

(B) Angarakhi

(C) Dhotis

(D) Dupatta

(E)  Question not attempted
ECONIRRES NI N ERI I B EE PRI B I
TSTET o fohar e & weifer 22

Frerfesfiae et 8 & warfores 3w a0
(A) Tl

(B) IREt

(C) el

(D) o

(E) a9

47  Name the main instruments of the Kalbelias.
Choose the most appropriate answer from the
options given below:

(A) Algoja
(B) Ravanhatha
(C) Sarangi
(D) Pungi
(E)  Question not attempted
ISl o @ Ter 3 A1 a3y
frfafaa faeredt o & @aifae 3ug® ST IA:
(A) STTST
(B) Taurgcdm
(C) ot
(D) Tt
(E) SFfaiaws
TUV - C09 | ***
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Which of the following statements are correct?

a. Melting of ice is a chemical change.

b. Formation of curd from milk is a chemical
change.

c. Rusting of iron is a chemical change.

Dissolution of salt in water is a physical
change.
Choose the most appropriate answer from the

options given below:

(A) a,bandconly

(B) bandconly

(C) b,candd only

(D) aandd only.

(E)  Question not attempted
frfafaa & & HH-8 e a8 82

a. 9% T fUEHT Uk T e i 2
b. U TR H AT U TETA Gfere 2|
c. IR H SHT M Uk YU TiEH 2l
d. ST H AT T AT T Hifreh TR 2l
et o e forehed # @ waifaes 3uge S A -
(A) FaT a, b I ¢

(B) A b3

(C) waADb, c 3 d

(D) wadaIiRd

(E) gaid

A first class airport at Jaipur in Rajasthan from
where the domestic and international flights
operate is known as-

Choose the most appropriate answer from the

options given below:

(A) Sanganer Airport
(B) Dr. Babasaheb Ambedkar Airport
(C) Rana Pratap Airport
(D) Rana Sanga Airport
(E)  Question not attempted
TSTEAT o SIqE 3 feora ot 2ot garg stger et &
frfaiaa foredt # @ @aifae 3ugw 3ot I1:
(A) W TS 3TgeT
(B) . AR JHeISH TS TS
(C)  TIOTT alTd &S TS
(D) T EI & ST
(E) I g
[ Contd...



50  Characteristics of Palash forests found in

Rajasthan are:

a. These forests are spread in those areas
where the surface is stony and hard.

b. They are found abundantly amongst hills
where plateau land is available.

c. These types of forests are found only in the
Mount Abu region.

d. These forests are also found in the plains
which are pebbled and have less amount of
soil.

Choose the most appropriate answer from the

options given below:

(A) a,bandconly

(B) b, canddonly.

(C) a,banddonly

(D) a,candd only.

(E)  Question not attempted

TS H U ST aTel IeTsT o a1 eht foreand &:

a. AT A H Hel & STEI T TaS g
TS FIR 2

b. ¥ ETISH & 3T & § T AT H IR ST 3
STt Yo i 3ueey 2

c. T RN o I hac WIS ST & H UT ST
@l

d. I3 AT A o U S § ST ke & 3N
TET HH HTAT F Tt STt 2

et faw e forepeat & & @At Sugw ST A -

(A) FacTa, b I ¢

(B) @adlb, ¢ 3 d

(C) wacla, b3 d

(D) Fac a, ¢ 3 d

(E) Srfaiauy

TUV - C09 | ***
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52

Match List-I with List-II:

List-1 List-11
(Types of Soil) (Most appropriate
characteristics)

a. Redyellowsoil I. Contains a sandy
loam texture

b. Desert soil II. Presence of iron
particles

c. Black soil III. Cannot absorb and
hold much water

d. Alluvial soil IV. Cheeka dominated soil

Gl -1 g=ft -11 & gaford ife

T -1 Tt -11

(93T & THR) GEUBER RS
forrerard)

a AU TR 1 el e ST Bt R

b. e T II. e 377 3hT HISErt

c. Shieft qaT I11. ST 0T T SIS0 &7t
T Rt STt 2

d. See Hat 1V. <feht T HaT

Choose the most appropriate answer from the

options given below:

e fq e fopedt & & wrafferes 3uge STAMT:

(A) a-Lb-Mc-I,d-1V
B) a-ILb-IV,c-I,d-1I
(C) a-Lb-Ill,c-1IV,d-1I
D) a-ILb-I,c-1V,d-1
(E)  Question not attempted / 31@?1'&?[ 99

The process of coating teeth with gold is called:
Choose the most appropriate answer from the

options given below:

(A) Rakhan (B) Choonp
(C) Kandora (D) Mokdi
(E)  Question not attempted
il o HIH T T T T T5hH HEATdT 2:
frfafad fasreat 7 @ waffae 3agw® S0 TH:
(A) @ B) =
(C) = (D) Hiher
(E) 3rgaid 9
[ Contd...



53  Who were the Phad reciters?
Choose the most appropriate answer from the
options given below:
(A) Bhopas (B) Kalbelias
(C) Sagrada (D) Banjaras
(E)  Question not attempted
%S % dT<Ieh i A?
Freferfia frhed & & wratfires 379w S
(A)  oT (B) wIisifern
(ORPIE] (D) WSO
(E) Srfaiayy
54  Forts situated on high mountains are called:
Choose the most appropriate answer from the
options given below:
(A) Dhanvan Durg (B) Giri Durg
(C) ParikhDurg (D) Sainya Durg
(E)  Question not attempted
& yeTeSt W feorq fohet ol et ST 2:
Freiferfia fredt § & wratfires 37w S
(A) el (B) ffeg
(C) i@t (D) @=rgd
(E) Srfaiayy
55  The famous song of the Bhils of northern Mewar
is:
Choose the most appropriate answer from the
options given below:
(A) Kurja (B) Mumal
(C) Humseedo (D) Maand
(E)  Question not attempted
I HaTe % it v wieE T @
frfafaa faeredt o & @aifaes I9g® ST IA:
(A) it (B) A
(C) wdiar (D) His
(E) Srfaiays
TUV - C09 | ***
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58

Which monument is known as the “Hawa Mahal
of Jhunjhunu?”
Choose the most appropriate answer from the

options given below:

(A) Jaswant Thada (B) Jagmandir palace
(C) Lalgarh palace (D) Khetri Mahal

(E)  Question not attempted

HI-Hl1 SHI 3] 1 EATHEeT o6 1 4 forera 27
frefetRad fospedt & & aafieres Iag® ST
(A) SEaqUST  (B) SWHEf Y|

(C) TGITE (D) W A

(E) I g

Where is the Gagron Fort situated?
Choose the most appropriate answer from the

options given below:

(A) Jhalawar (B) Alwar

(C) Karauli (D) Bharatpur

(E)  Question not attempted

TR fefe shat ot feord 22

frfaiaa fokedt # @ @aifae 3ugw 3o I1:
(A) AT (B) AR

(€) et (D) ¥R

(E) I g

What did Dr. P. K. Sethi co-invent with
Ramchandra?

Choose the most appropriate answer from the

options given below:

(A) Jaipurelbow (B) Jaipur wrist
(C)  Jaipur knee (D) Jaipur foot
(E)  Question not attempted

<7, Y. 3. T3t 4 THES o 91 fiyetent s fashr
IERIV

frfafad fasreat 7 @ watfae 3agw® SR TH:
(A) SERHE  (B) TARFR
() SERIeT (D) SEARUE
(E) 3Iqdia gy
[ Contd...



59  When was the first battle of Tarain fought?
Choose the most appropriate answer from the
options given below:

(A) 1191 A.D. (B) 1192 AD.

(C) 1193 AD. (D) 1194 AD.

(E)  Question not attempted

TUE T BT TG, ohel ST TTAT?

frfeRad fospedt § & wafiere 3ug ST
(A) 1191 T €l (B) 1192T &€l

(C) 1193 T €l (D) 1194 T €.

(E) e ud

60  In which year was the Kota Rajya Praja Mandal
setup?

SHIST TS TSI HS ohl T fohdt aref o 52
Choose the most appropriate answer from the
options given below:

frfaRad fosheat @ & @atiere Iug ST
(A) 1942 (B) 1943

(C) 1944 (D) 1945

(E)  Question not attempted / aa?lﬁﬁ Iq

61  According to Census 2011 which of the following
states has a lower literacy rate than Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Goa
(B) Bihar
(C) Nagaland
(D) Tamil Nadu
(E)  Question not attempted
SO 201 1 3 STTENR e 5 § fore Tsa b1
T G TS o HH 82
rer faw e forepedt § & @@@ S SR I
(A) Tar
(B) fum
(C) ANTiE
(D) dMHTg
(E) Srgaiaug
TUV - C09 | ***
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According to the Census of 2011, what was the
position of the state of Rajasthan in India with
respect to its population size?

Choose the most appropriate answer from the

options given below:

(A) Seventh (B) Fifth
(C) Eighth (D) Ninth
(E)  Question not attempted

201 1 3T SFRTUAT % STHR, SHEEAT ATHR % TR
T A § TSTEAT TS ShT T T AT?

frefetRad fospedt o & aafferes Iag ST T:
(A) wrqEl (B) di=al

(C) 3Tmear (D) &t

(E) rgaid o

Which of the following statements is not correct
about Rajasthan Road Vision 2025?
Choose the most appropriate answer from the

options given below:

(A) Inthe first 15 years, all the villages will be
connected with roads.

(B) It was prepared by the Public Works
Department of Rajasthan.

(C) After 15 years of Road Vision, in the next
ten years flyovers and four lane state
highways will be developed.

(D) All the villages of Rajasthan shall be
brought under the market economy through
this programme.

(E)  Question not attempted

USRI Te& fIe (Vision) 2025 & X H

frferfiad & & sH-a1 e et 78 22

frfafad foepeat # @ watfae sag® S0 TH:

(A) B 15 aut § uff TWiET B TSt ¥ ST
S

(B) ¥E USEY & ofieh f-mior foramT grr dam
[ERIKEIRI

(C) T fas o 15 991 & o8 37T 10 991 §
TFATSHIR N =R A aTet TSF TS T
IEEICRERIRS I

(D) 39 HR%HT & FRT TSI & gt Tiah e
TSI 3TfoaeeT & ST AT ST

(E) 3rgaid 9

[ Contd...
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The book “Anubhav Vaani” contains the spiritual
teaching of which of the following:

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
D)
(E)  Question not attempted

qedsh “IIqwd aof # fefafed @ 8 foae
afreTfersh feeqor ffe &2

ffaiiaa foeredl # @ waifas 3ugw s I4:
(A) TWETaerm  (B) TW=O

(C) HATomeEE (D) §dHmEST

(E) a9

Maharshi Navalram
Ram Charan

Saint Ranabai

Saint Mavji

Folk Dance Terahtali is related to which of the
following states of India?

Choose the most appropriate answer from the
options given below:
(A) Jharkhand
(C) Rajasthan (D) Bihar

(E)  Question not attempted

EATCAT TR T A % {6 T T Traferg 82
frfafaa faeredt @ & waifaes 3ag® ST IA:
(A) 9GS (B) HfUrgT

(C) TSR (D) foEw

(E) Srfaiayd

(B) Manipur

In Rajasthan this soil is displaced by winds, lacks
in fertility and has more salinity.

Identify the soil type.

Choose the most appropriate answer from the
options given below:

(A) Lateritesoil  (B) Desert soil
(C) Black soil (D)
(E)  Question not attempted

TSTE # € g1 e g forenfud et 2, sed
IITAT W T AT ey B 2

T i TE=H IS

frfafaa faeredt @ & @aifaes 3ag® 3T IA:
(A) dEHIT  (B)  HEECA g

(C)  weft 7t (D) Sfeitg HaT

(E) Ffaia s

Alluvial soil

X
k%
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The

programme for the proper management of water

Rajasthan government has started a
at the local level.

Identify the programme.

Choose the most appropriate answer from the
options given below:

(A) Jal Kranti Abhiyan

(B)
©)
(D)
(E)  Question not attempted

TSTET R STt o T e o foTq e
T O A T JEATT 6l 2
EIRECKIREEIEEAIE L

frfafad fosreat 7 @ watfae 3agw® SR TH:
(A) ST shifer AR

IR CICEEIS KRSICRE

(C) TEHwT SIeT TTeIeTr

(D) TSI Sid G&T0T T

(E) 3t g

Pradhanmantri Jal Swavalamban
Mukhyamantri Jal Swavalamban

Rajasthan Jal Sanrakshan Mission

The country defeated by India in the semifinal of
ICC MEN’s T20 WORLD CUP, 2024 is:
Choose the most appropriate answer from the

options given below:

(A) Afghanistan

(B) South Africa

(C) England

(D) Australia

(E)  Question not attempted

g o1 e <3S ©t ot g 2 20 forgeha, 20247 %
GHIRIEE H R = ST o

frfaiad foredt # @ @aifae 3ugw 3ut I1:
(A)  STHMHE

(B)  afeqor amshient

(€) 3eie

(D) siregfern

(E) 3Iqdia gy

[ Contd...
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India won gold medal both in the Men’s &
Women’s categories in which of the following
FIDE CHESS OLYMPIAD held during
September 2024 at Budapest, Hungary?

Choose the most appropriate answer from the
options given below:

(A) 44th (B) 45th

(C) 4eth (D) 47th

(E)  Question not attempted

e 2024 o e, T # ARG HiH-H
“THTES JTALST SIS H YRA 89 37K Afear
T 9§ Taot gge S

frfafiaa faeredt o & gaffas 3ug® ST IH:
(A) 4474t (B) 45t

(C) 46df (D) 473

(E) 3rgaild o

Manu Bhaker, an Indian athlete is related to the
sport of:

Choose the most appropriate answer from the
options given below:

(A) Javelin throw (B)
©) (D)
(E)  Question not attempted

T TR Ueh WA Torelie fordr ©et o wsiferd 22
frfafaa faeredt 4 & @aifas Iag® ST
(A) St (B) i

(C) SsfiieT (D) SifeT

(E) iy

Shooting

Badminton Boxing

How many members are there in the Rajya Sabha
representing Rajasthan State (as on September
2024)?

Choose the most appropriate answer from the
options given below:

(A)
©) (D)
(E)  Question not attempted

TSFET T | TSA9T ¥ o et st wfafafere
(Frawar 2024 eF) 22

frfafaa faeredt @ & @aifaes 3ag® 3T IA:
(A) 20¥qHY (B) 10¥s¥y

(©) 1299 (D) 8¥WsH

(E) SFfaiays

20 members 10 members

(B)

12 members 8 members

X
k3
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A cross in which the F; generation is crossed
with the recessive parent is called:

Choose the most appropriate answer from the
options given below:

(A) Reciprocal cross

(B) Test cross

(C) Back cross

(D) Polyhybrid cross

(E)  Question not attempted

TET W (oh1E) s Fy et ot deRtor STt
ST ¥ AT ST ©, hedTdT &

frefetRad fospedt o & aafferes Iag® ST T:
(A)  FoshH HhLT

B) uheome () TR

(C) T (soh) Tehtor

(D) SEEHT HRTIT

(E) rgaid o

From the list of the following statements, select
the correct statements:

a. The external appearance of an individual
is called genotype.

b. The character which expresses itself in F
generation is called dominant character.

c. Such type of cross in which a single

contrasting trait is considered is called
mono-hybrid cross.

d. The factor that controls a character is
called gene.

Choose the most appropriate answer from the

options given below:

(A) a,banddonly (B) b,canddonly
(C) aandconly (D) canddonly
(E)  Question not attempted

frefafaa swomt &t g=ft & 9§, W&t St o =

FhifsTu:

a. [t Sfa & SR YA @ SiHYET
(ST e 2l

b. 9T ALV S & &I F| N 7 safvrearh swar
®, T ST&T0T haeATdT 2l

c.  UHr Hentor foed weh fooatet oeror ot form
SITT &, Uh-Hoh HehllT ShaetTdT &

d. 98 e, St foret wreqor st e o 2,
S e 2l

it fow T forhedt § & waiferes 3uge S 9 :

(A) HdTa,b3Id (B) Hadb, c3Fd

(C) FaAa3Mc (D) Hadc IR d

(E) 3rgaid 9

[ Contd...
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The plants which are crossed to obtain the
offspring are called:

Choose the most appropriate answer from the
options given below:

(A) Hybrids

(B) Parental generation

©
(D)
(E)  Question not attempted

I N, SehT Teald I T o oI Septor sham
ST 2, e &

frfafiaa faeredt o & @aifae 3ug® ST IH:
(A) R (B) S ey

(C) U gae digl (D) Iwst

(E) a9

First filial generation

Zygote

What is the difference between compound
interests on ¥ 40,000 at 10% per annum for 1%
years when the interest is compounded semi-

annually and when it is compounded annually?

T 40,000 W 10% e A& 15 af % =l
TS § S A SAGATeh HASIT =iar & 9 et
(A) Z110 (B) %95

(C) Z100 (D) %105

(E)  Question not attempted / H@ﬁﬁﬁ Iq

At 10%

compounded half yearly, in how much time will

per annum compound interest,
a sum increase by 10.25%?
(A) 24 months (B)
© D)
(E)  Question not attempted

10% aTTSeh TIshdfea SATST UL, STelfeh SATST STaaTich
T BT LT 2, foha e A TR 10.25% Hrafg
& St

(A) 24 7EH
(C) 129&9
(E) Srfaiaws

11 months

12 months 15 months

11 wE
15 wE

B)
(D)

X
k3
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Which of the following is not a property of
metals?
Choose the most appropriate answer from the

options given below:

(A) Metals are sonorous.

(B) Most metals have low melting point.

(C) Except lead most metals are good
conductors of heat.

(D) Most metals are malleable.

(E)  Question not attempted

frafafiad & & s-a foret amq &1 e o e 22

et forpedt § & warlfire Sugw s

(A)  TqU aTfe it &)

(B)  feremisT sl o oo e B 8

(C)  TIS I BIGHT HATUHII HTE FT hl FalTeTsh
&It

(D)  SfeRisT 7T SATeTAaE T Bt 8

(E) rgaid o

If zinc granules are added to copper sulphate
solution, what will be observed?
Choose the most appropriate answer from the

options given below:

(A) Solution becomes red in colour.
(B)  Solution becomes brown in colour.
(C)  Solution retains its blue colour.
(D) Solution becomes colorless.

(E)  Question not attempted

Ife fSioh 3 ST Rl I Gothe & faetae ¥ foermn
ST, . fewrs 2

frafafaa fosredt 3 & waifre suges o I
(A) Toee o G T E ST R
(B) Toe s ETHI I S@T 2
(C) faoram 379 et &1 ot ST T 2
(D) foceem A B ST Rl
(E) 3Idia g
[ Contd...



79  Choose the incorrect statement with reference to
non-metals.
Choose the most appropriate answer from the
options given below:
(A) A non-metal is used in the water
purification process.
(B) Non-metals are good conductors of heat
and electricity.
(C) Non-metals are used in crackers.
(D) Non-metals are used in fertilisers.
(E)  Question not attempted
TGN o e H TeTd o i AT
ﬁmﬁ%ﬁﬁmﬁﬁmﬁwmwaﬁ
(A) mws@nwsﬁmaﬁuﬁmﬁm
TR
(B)  3THITqY AT 37K forpa <t gaimereh 2
(©) mﬁwwﬁnw@ﬁ%mwél
(D) mﬁwmﬂmﬁ%mw%
(E) aﬂaﬁﬁw
80 Banjara, a well known group of graziers are
found in the villages of :
Choose the most appropriate answer from the
options given below:
(A) Bihar (B) Rajasthan
(C) Andhra Pradesh(D) Goa
(E)  Question not attempted
SIS, SETel T U TS 88 ERICIR:
EILEICR
frfeRad fospeat @ & @atiere 3ug ST
(A) foer (B) TSEIH
(C) AT (D) e
(E) oFfaiaud
81 By which of the following month are Raikas
known to move for pastoralism?
Choose the most appropriate answer from the
options given below:
(A) June (B) July
(C)  October (D) August
(E)  Question not attempted
Tyt freforfaa # & forg weli  wspemor & for
ST ST &2
frfeiad fospeat 4 & wafiere 3ug ST
(A) T (B) e
(C) I (D) &
(E) Srgaiaug
TUV - C09 | ***
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The Bengal tiger is found in:
Choose the most appropriate answer from the

options given below:

(A) Mountains (B) Delta area

(C) Plateau (D) Desert

(E)  Question not attempted

TS TSR WP ST 2:

frfaRad foeredt # @ waifae 3ugw at 91
(A) TEEIEATH  (B) Sodradd

(C) WRH (D) TEEAH

(E) gaid 9

Continuous inbreeding increases:
Choose the most appropriate answer from the

options given below:

(A) Homozygosity

(B) Heterozygosity

(C)  Ovulation capacity

(D) Fertility

(E)  Question not attempted

AR 7T & et 2-

frfafad fasreat # @ waffas 3agw® S T
(A) EHIHSAT (B)  Tersprsran

(C) iSiafamar (D) SHA &war

(E) gaid

Which of the following are the endoparasites of
cattle?

a. Lice b. Tape worm
c. Ascaris d. Liver fluke
e. Ticks

Choose the most appropriate answer from the

options given below:

(A) dandeonly (B) b,canddonly
(C) a,bandconly (D) a,candeonly
(E)  Question not attempted
frefafaa & 8 #9-9 wafmEt o ofq. ot 82
a. TT\I)Q b. tﬁ?‘l‘@&[
c. T d. WWEF
e.  fohart (foamn)
et fow T fereredt o & wiferer W ST |
(A) FAAd3Ne (B) Hadb,c3Nd
©) FacT a, b I ¢ (D) FacT a, ¢ I e
(E) I g

[ Contd...
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Match List-I with List-I1:

List-I (Revolution) List-II (Related to)
a. White L
b. Blue I
c. Yellow III.  Milk

d. Green IV. Oil seeds
HAT-1 3 |1 Geil-11 T e hiferT;
Tft-1 (shifa) Teit-11 (FEfEa 2)
a. aq L R3]

b, et I &N

c. Uil . 39

d. =@

Fishery
Agriculture

v. faaeA

Choose the most appropriate answer from the
options given below:

et fa T foreheat & & watfire S ST -
(A) a-IIL,b-I,c-1V,d-1I

B) a-Lb-Mc-I,d-1IV

(C) a-IV,b-I,c-MLd-1

(D) a-MIL,b-1V,c-1,d-1I

(E)  Question not attempted / 33!'@'&?{ I9q

The average of 9 consecutive numbers arranged
in their ascending order is 18. What is the average
of the first seven of these numbers?

9 SHIRTA HEATS ST STRIET 3hH H A Ted & T 3T19a
18 81 379 © Rt |1 HEATSTl T S7d T 27
(A) 16 B) 17

(©) 175 (D) 18

(E)  Question not attempted / H@ﬁﬁﬁ Iq

What is the average of the numbers 9, 5,7,16, 10
and 13?

9,5,7,16,10 TIT 13 TEAT T ST T 82

(A) 11 B) 125

(©) 105 D) 10

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

X
k%
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The average marks of 40 students of a class in a
test were calculated as 33. But later it was found
that the score 33 was taken as 93 by mistake.
What is the correct average of their marks?

el o 40 ToremrT o Ueh e & 37i|a 31e 33 )
TG T 1 g3 foh 33 e ol el & 93 o foram mm

9T 3ok 3Rl T & T T 82
(A) 345 (B) 33
(©) 315 (D) 3125

(E)  Question not attempted / 31':!3?!'?(‘([ Tq

A shopkeeper sold an item for ¥ 765 after allowing
a discount of 15% on the marked price. What
would have been the selling price if he had
allowed only 10% discount?

T GHMAR A Sifehd T W 15% P2 I qUAHR 9]
% 765 ¥ s Al I8 FAA 10% T2 I B, Al

forshar e =T B
(A) %790 (B) %800
(€) %810 (D) %816

(E)  Question not attempted / a@ﬂﬁﬁ BE

A Shopkeeper allows successive discounts of
10% and 5% on every item. He allowed an
additional discount of 4% to his friend on an item
marked at ¥ 20,000. How much his friend paid for
the item?

Teh GHIET Jealeh &g T 10% T 5% 2l shitieh 92
AT 2| 3\ A ot T 3Rt 7T % 20,000 T T
W 4% i Al P | 30k 07 T 30 a%q

fepaT T Shram?
(A) T16,200 (B) 16,320
(C) 16416 (D) R16,512
(E)  Question not attempted / 31@?!‘?(?[ I
[ Contd...
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In 2023 the Rajasthani player Divya Kriti Singh
Rathore was given the Arjuna Award for the
game of:-

Choose the most appropriate answer from the
options given below:

(A) Polo

(B)
©)
(D)
(E)  Question not attempted

2023 ¥ T Raeret fesred e Uers i 31l
R for e 36 for foeT T

Frefeian Fasbedt 8 & aarffires Sug S
(A)

(B) gSHART

(C)  TSHaH S&

) BREHIEEIS)

(E)  3Taiied o=

Equestrian
Equestrian Dressage

Shooting

Who among the following from Rajasthan was
awarded Padma Shri, 2024?

Choose the most appropriate answer from the
options given below:

(A) Shri Lakha Khan Manganiar

(B)  Shri Moolchand Lodha

(C) Pandit Shri Laxman Bhatt Tailang

(D)
(E)  Question not attempted

TSTET o ATt Rad o & fordt Tareft goeehr 2024 &
Tt foRam T 22

Freaferias Fasredt 8 & Farifires S S
(A) ot ATET @ HITURER

(B) it Hereie @

(C) ufed st wemor w7g dehT

(D) off stemor fog

(E) Srfaiays

Shri Laxman Singh

X
k3
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94

The National Service Scheme (NSS) a Central
Sector scheme of the Government of India is
under which of the following Ministries?

Choose the most appropriate answer from the

options given below:

(A) Ministry of Education

(B) Ministry of Social Justice and
Empowerment

(C) Ministry of Youth Affairs and Sports

(D) Ministry of Women and Child Development

(E)  Question not attempted

TS QT AT (T, TE. TE.) IR TR I Th
e &1 Y AT 2, T Feferfaa 3 o forw watera
% ITefiT 7

frfaiaa fosredt # @ waifae 3ugw 3t 91
(A)
(B)
©
(D)
(B)

TRreT HaTer

TSR =TT 37 SATrenTiar Farer
TT FHTHH I T HATRT

HigeT Udl ST ferehmer waATer

I RNICRE]

The traditional hunters of Rajasthan include:
a. Thori b. Naik

C. Sansi d. Boliya

Choose the most appropriate answer from the

options given below:

(A) aandbonly. (B) bandconly.

(C) a,banddonly. (D) candd only.

(E)  Question not attempted

TSTET & YR farehrdt &:

a. oY b. drsh

c. et d. aifern

= faw e foreredt & & @affarss 3ugw I H|
(A) FIAa3Rb (B) Hadb 3¢

(C) aTa, b3 d (D) Hadc3Nd
(E) 3Iqdia g4

[ Contd...
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Match List-I with List-II:
List-I (Festival) List-II (Place)
a. Summer Winter I.  Bikaner
Festival
b. Kajli Teej II.  Jhalawar
c. Kolayat Fair III. Mount Abu
d. Chandrabhaga Fair IV. Bundi
EEBER PR CISIEIRERICEIISLE
ef-1 (FTER) -1 (FrT)
a. HAaRefiascaa [ sffeR
PEEKIKE] I.  SATATaTS
c. HIARIA Hal 1. HTSE 3T
d. =SSR AT v. &t
Choose the most appropriate answer from the
options given below:
i few T foreredt # @ waTfae 3ug S|
(A)
(B)
©
(D)

(E)

a-MLb-Tc-1T,d-1V
a-1V,b-Ill,c-1,d-T
a-lLb-1V,c-1,d-1I
a-Lb-I,c-TI,d-1V
Question not attempted / ?ﬂ@?lﬁ?f e

Where did the Indian Air Force conduct the
“Exercise Vayu Shakti -247”

Choose the most appropriate answer from the
options given below:

(A)
©
(E)
TRCART AT BT 7 37T AT WMfeh-247 et foham?
Frerferfin fasresit & wrarifores Tuge ST
(A) T (B) iR

(C) @+ (D)
(E) SFfaiaws

Pokharan (B)
(D)

Question not attempted

Dholpur

Tonk Alwar

AT

X
k3
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In December, 2022 where was the first Sherpa
meeting under India’s G20 Presidency held?
Choose the most appropriate answer from the
options given below:

(A) Udaipur (Rajasthan)

(B) Bikaner (Rajasthan)

(C)  Ajmer (Rajasthan)

D)
(E)  Question not attempted

fagiat 2022 # WA i $ft-20 Tereram i vaett T
oo el ST i TS of?
frfaiad fosredt # @ waifae 3ugw 3ut 91
(A) IR (TSFAM) (B) SR (TS™)
(C) SR (USEIM) (D) A (TSTEIM)

(E) rgaid o

Bharatpur (Rajasthan)

Who won the women’s title in the *51°' National
Women’s Carrom Championship® held in
Madhya Pradesh?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
D)
(E)  Question not attempted

qe Yoy W MRS 51 UKE Afger |
<foeafere 1 faare ferae Sfar?
frfaiad fosredt # @ waifae 3ugw ut 91
(A) WA FAE (B) IR SWHI

(C) Uaadawfifer (D) . sifamw

(E) raid o

Rashmi Kumari

R. Arokiraj
Ravivarman Sharmila
K. Sriniwas

Under which section among the following Zero
FIR comes in Bharat Nagrik Suraksha Sanhita
2023 (BNSS)?

WA AT e wfear -2023 (< o @ ) §
FfcRad & & forg 9T & Sfia ST T 311 1R
AT B2

Choose the most appropriate answer from the
options given below:

frfafad faeredt 4 @ affere Iugw SO
(A) 170 (B) 173

(©) 178 (D) 191

(E)  Question not attempted / 313?!'?(?[ T

[ Contd...
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Which of the following Rajasthan state projects
has been granted the National Project status as
updated in July 2023?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

frmferfiea 5 & forer TsTeaT U TR ISHT 1 ST,
2023 H 3T o STTER TS TSI T 311 TG
TIT &Y

frfafiaa faeredt o & @aifas 3ug® ST IH:
(A) T Hifea Hre s

(B)  THR TSIEY ST TSiee

(C)  SAFEYL SIS TS SR WISiae

(D) T ToTeT e aREISHT

(E) rgaid o=

‘Dhol dance’ is associated with which area of

Gomukhi Medium Canal Project
Upper Rajasthan Bhadra Project
Anandpur Barrage Canal Irrigation Project

Eastern Rajasthan Canal Project

Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)
©) D)
(E)  Question not attempted

BIeT Jea TSI F Tohey & & wraifeera 29
frfafiaa faeredt o & gaifas 3ug® ST IH:
(A) SR (B) HIt

(C) SR (D) FTAETS

(E) a9

Sikar

Jhalawar

Jalore

(B)

Jaipur

Name the famous folk theatre of Jaipur.

Choose the most appropriate answer from the
options given below:

(A) Chaar Baint

Tamasha

Swaang (B)
(C) HelaKhyal (D)
(E)  Question not attempted

ST 3 T Tl A1eeh M AT Taq1sy)
frfafad faeredt § & @aifae Iag® 3T IA:
(A) =i (B) =Rdd

(C) TEId (D) =TT

(E) rfaiays

X
k3
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Which place has the distinction of being the most
mysterious tourist place in Rajasthan/India?
Choose the most appropriate answer from the

options given below:

(A)  Shergarh (B) Mandalgarh

(C) Bhangarh (D) Taragarh

(E)  Question not attempted

TSI / ¥R o -8 T I Faifees Tt
T T B AT ST ITH &2

frfafad foereat 7 @ waffae sagw® S0 TH:
(A) g (B) wiewTg

) TG (D) dwITE

(E) rgaid o

Name the dialect spoken in the region of Kota,
Bundi, Jhalawar and Baran.
Choose the most appropriate answer from the

options given below:

(A) Mewati (B) Hadoti
(C) Bhili (D) Dhundari
(E)  Question not attempted

ahlel, S, FTArErg AT AR &6 | Sielt ST et
et ST AT ST

frfafad fosredt 7 @ watfae sagw® S0 TH:
(A) waTdt (B) ®rEKd

(C)  ofieft (D) et

(E) raid 9

In which area is the Salasar Hanumanji fair held?
Choose the most appropriate answer from the

options given below:

(A) Udaipur (B) Pali

(C) Karauli (D) Churu

(E)  Question not attempted

IO SIS T AT el T 22
frfafad fasreat 7 @ waffae 3agw® SR T
(A) IR (B) et

(©) D) I®

(E) g gy

[ Contd...
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Where is Latthmar Holi played in Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Bhinay

(C) Srimahavirji (D)
(E)  Question not attempted

TSEI § AgAR Bici! el Gl STt 82
frfeRa fospeat # & @afiere Iug ST
A) fEm (B) SiHdTST

(C) simeEist (D) W

(E) raid 9

Banswara

(B)

Barmer

Select the incorrect pairing from the following
feed stuffs and their accompanying description:
Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D) Feeds rich in carbohydrates - Barley

(E)  Question not attempted

frefafaa =mr gl w318 9o foeer § e
T T T HIT;:

freferfaa foreredt # & wraffére 3ugw Sat I
(A) B AN-SEH

(B) TR-ThellaR &@T FRI-Tg& o

(C) WIEH ¥ a9g aw-fotar

(D) FHEIREESE ¥ H9E AW

(E) rfaiawy

Green fodder - Berseem
Non-leguminous dry fodder - Lucerne hay
Feeds rich in protein - cotton seeds

Which of the following is a coloured broiler
poultry bird?

Choose the most appropriate answer from the
options given below:

(A) CARIPRIYA

(B) CARISONALI

(C) CARIBRO VISHAL

(D) CARIBRO DHANRAJA

(E)  Question not attempted

fafafad & & -a1 i siger difeg uaft 22
frfafaa faeredt o & @aifaes Iug® 3T IA:
(A) & fRT (CARI PRIYA)

(B) {0 @HTeft (CARI SONALI)

(C)  Kd¥si faremeT (CARIBRO VISHAL)

(D) s =TS (CARIBRO DHANRAJA)
(E) a9

X
k3
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Which of the following animals is used for the
preparation of vermi compost manure?
Choose the most appropriate answer from the

options given below:

(A) Silk worm (B) Earth worm
(C) Millipede (D) Leech
(E)  Question not attempted

frfaiad o & SH-a1 Siq aHfieriee @8 s e §
SR foRaT STTaT 27

frfafad fospeat # @ watfae sagw® S0 T
(A) Toes o (wm fie)

(B) aeT

€) fuchdie

(D) &

(E) rgaid 9

Which of the following institutions launched the
centralised Web Portal ‘UDGAM’ in August
2023?

R 3 @ forer e = s e T e Sam
6T AT STTET 2023 H H1?

Choose the most appropriate answer from the
options given below:

et o T forshedt & & AEE SUTH I -

(A) ISRO (B) NHAI

(C) RBI (D) UGC

(E)  Question not attempted / 31@?!'&?[ 99

The ‘Rising Rajasthan Global
Summit’ scheduled for December, 2024, will be
held at:

Choose the most appropriate answer from the

Investment

options given below:

(A) Jodhpur (B) Udaipur
(C)  Jaipur (D) Bhilwara
(E)  Question not attempted

fege 2024 7 B4 91T © Ui U Afen fasT
TRt ww e © et strEfsa foma s

frefeTRad fospedt @ & wafieres Iag ST
(A) SR (B) SR
(SRR (D) ¥fiefaer
(E) ¥ g

[ Contd...
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Rajasthani literature of the Bhakti period was
mainly written between

Choose the most appropriate answer from the
options given below:

(A) 1050-1450 A.D.

(B) 1450-1650 A.D.

(C) 1650-1850 A.D.

(D) 1850 to Present time

(E)  Question not attempted

+ieh Tt T TSTET ATfecd e

e Tt |

FfcTfiad foshedt § @ waiferes Iug S I
(A) 1050-1450T €. (B) 1450-1650 T, €.
(C) 1650-1850 T & (D) 1850 ¥ IdHH TH
(E) 3rgaid o

*

Which genre of Rajasthani prose and poetry were
written in Sortha verse?

Choose the most appropriate answer from the
options given below:

(A) Saakhi (B) Dwavait

(C) Vaat (D) Rupak

(E)  Question not attempted

TRST B8 | e 7R v fohr Trereeri et # foe e
Dy

frefeiaa fospedt 4 & wafiere 3ug ST
(A) @t (B) g4

(C) dra (D) ®9H

(E)  3Tmied o=

The cost of a commodity increased by 20%, then
a family reduced its consumption by 20%. By
what percentage will the expenditure of the
family on the commodity increase or decrease?
(A) (B)
©) (D)
(E)  Question not attempted

TorefT aq o T W 20% T g B T Tk THRaR A
R T @A | 20% hT FHHT T T 3G T T IRER
& B aTet = | fohe wfrer afig am st Eih
(A) FEUNEATE (B) 4% dfs

(C) 4%t (D) 6%3fg

(E) Srfaiays

No change 4% increase

4% decrease 6% increase

X
k%
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By how much 77%% 0f ¥ 300 exceeds ¥ 2107
T 300 T 775%, % 210 ¥ bt aifereh &2

A 23 B) 13
©) T90 (D) %33
(E)  Question not attempted / 3774 e

Every month Navin spends 60% of his salary on
household affairs. He sends 50% of the remaining
to his parents and spends 50% of the still
remaining on family outings. Still he saves certain
amount, then what percentage of his salary he

saves every month?

T Tk T 31T S T 60% BRe] Tl T
AT 81 I8 T BT 50% 7T ARTTERT T 9T 3aT
2 ST 3t oft I T 50% TRER o |1y BT FUTe W
= AT 2| AT I 31t oft o ot ot e T 8,
Tl Icdeh TR o8 319 9d o fohd TfaeTd st st
HAT?

(A) 6% B) 8%
©) 10% D) 12%
(E)  Question not attempted / 3 T 9q

Support money for small cattle (small govansh)
under, cattle maintained in cow shelters registered
by the state government is enhanced from October
2024 as:

Choose the most appropriate answer from the

options given below:

(A) T 36/day (B) T22/day
(C) 38/ day (D) T52/day
(E)  Question not attempted

ST TR FRT USiiehd MeTerstl § W e Hafymt
o 3FTA DI AT (T Mere) o fore wrarerar af
HFZ, 2024 Y 39 THR I3 TS 2

frfafad fasreat 7 @ waffae 3agw® S0 T
(A) T369MRT  (B) T 22fafe
(C) ZT389s (D) T 52ufafew
(E) I g
[ Contd...
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Which one of the following is incorrect about the
ban on fishing in Rajasthan during June-August
20242

Choose the most appropriate answer from the
options given below:

(A) Fish species grows during the fish breeding
season.

(B) Fish business, exchange and display is also
banned.

(C) Entire July month ban on fishing is
applicable.

(D) The ban on fishing is for full month of
June and half month of August.

(E)  Question not attempted

ST-3TTET 2024 % SR T H FSAT T T
gicerer & o 8 fefafad & & i o1 Tad 22
frfafaa faeredt 4 & @aifaes Iag® ST IH:
(A) TS T IS HSAT ST o HEH F
S st 2l

TSl e, fafEm R faqwr w o of
feer 21

QTS HTE H AT Tehe T Nfesid A1 2
ST % T AEH HIT ST o 378 7S o6 feTg
ST Tehed W gfderer 2|

AR 9

(B)

©
(D)

(E)

Which of the following countries is the host of
the “International Conference of Agricultural
Economists” (ICAE)- 2024?

Choose the most appropriate answer from the
options given below:

(A) Bhutan

Mayanmar

Nepal (B)
(C) India (D)
(E)  Question not attempted

ffafad & & F-ar 9w <y st &
AR T (ICAE)-2024 T B 27
frfafeaa faeredt o & @aifaes 39g® 3T IA:
(A) ST (B) ¥eH

(C) ¥R (D) WIAR

(E) a9

X
k%

25
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What is the greatest 3-digit number which when
divided by 15, 25 and 30 leaves remainder 12 in

each case?

3 3fehT o1 ISt & I Ut HeT T 2 S 15, 25 7
30 ¥ 9T T T YRS Tk et 7 12 37102
(A) 941 (B) 934

(C) 928 D) 912

(E)  Question not attempted / 31@?1']3{?[ BE)
Choose the irreversible change from the
following:

Choose the most appropriate answer from the

options given below:

(A) Compressing the sponge
(B)  Chilling of milk

(C) Burning of wood

(D) Melting of ice

(E)  Question not attempted

ffafad o & el aitEd st -
frfafad fasreat # @ waifas 3agw® S0 T
(A) TS HTEdET (B) U R AT
(C) TR H ST (D) &% o e
(E) rgaid 9

When the tip of a piece of a thin ribbon of
magnesium is cleaned and brought near a candle
flame it burns with a brilliant

Choose the most appropriate answer from the

options given below:

(A) White light (B) Yellow light
(C) Redlight (D) Blue light
(E)  Question not attempted

AR o Teh qdet B (Fe) % Zohs & T X
T T ek 39 HIHeId] shl SaTelT o fehe ard ar 3

STt 21
frfafad faeredl 3 & @affare sugw S0 T
(A) THHER TS Yeh1aT & ATY
(B) THHER Yict JhTST o AT
(C) <THHER AT YehTST & AT
(D) THHER et TehIST & 1Y
(E) 3Idia g
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Identify the colour change that takes place when
we put an iron nail for an hour into a blue coloured
copper sulphate solution in it.

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

SIS B9 U IR i et ol Tk He & foqu it Tk
I The e 1 Tad €, At forera o a1 afad
EAREEIE

frfeRad fospeat # & wafiere Iug ST
(A) IfrardrEare

(B)  3HHT TT e oL AT &1 ST 2

(C) 39T TT & L &0 |7 &l SITaT 2

(D) 3 T foeraa o uftafda 2 sirar 21

(E) a9

It remains blue.
It changes to orange colour.
It changes to a greenish colour.

It changes to a colourless solution.

Match List-I with List-II:
List-I
a. Stainless steel 1.
b. Gold IL
c. Sulphur 1.
d. Magnesium IV. Inert metal
e -1 ! i 11 | gaferd i
Tt -1
a. LT Wi L
b. w@u
c. HeW fHerenq
d. i it g

Choose the most appropriate answer from the

List-1I
Non metal
Metal
Alloy

options given below:

e feq T fopeat & waiferes 3ug ST AT
(A) a-ILb-TLc-IV,d-1I

B) a-NLb-1V,c-1,d-1

(C) a-NLb-IV,c-Ld-1I

D) a-ILb-1V,c-II,d-1I

(E)  Question not attempted / ﬂ@ﬁﬁﬁ il

X
k3

26
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If the difference between 71% of a number and
49% of the same number is 396, then the number
is:

afe foret T & 71% AT ST WA 6 49% H
= 396 7, T HEAT 2

(A) 2200

(B) 2000

(C) 1800

(D) 1720

(E)  Question not attempted / 31@?1'?{?[ Tq

A sum of money was lent on simple interest for a
certain time. If the sum amounts to ¥ 6000 at 10%
rate of interest and to I 3600 at 4% rate of
interest, then find the time (in years) for which
the money was lent?

e GITRT HTETT TS W 3 A o fofq m
T Ffg T 10% TS R F T 6000 & ST B qem
4% TSI & | T 3600 BT ST 2, AT 1 Hiorg foh
3T forae Tm=r (@t o) o forg Sam < s ofty

(A) 15

(B) 20

< ) 10

(D) 30

(E)  Question not attempted / ﬂ@ﬁﬁﬁ BE)

A sum of T 15,500 was lent partly at 5% and the
remaining at 8% simple interest. The total interest
received after 4 years was ¥ 4000. The ratio of the
money lent at 5% to that at 8% is:

% 15,500 TRT 1 FB WA 5% qAT AT 9T 8%
HTETROT ST O ST T TT3AT| 4  T7e] ot AT
% 4000 FTH EIAT| 5% T IYT &Y TS TR HT 8% T

YT} TS TRT H 3T &

(A) 16:15

(B) 15:17

(©) 17:15

(D) 6:5

(E)  Question not attempted / ?ﬁﬁﬁﬁ 99
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If the difference between compound interest and
simple interest on a certain sum at 20% p.a. for 3
years is < 480, then the sum is:

afe F TRT W 20% e H R H 3 a9 % g
TIshaf SATST T WTEROT ST § 7= T 480 &, d
afre:
(A)
B)
©)
D)
(E)

%6500
T 6000
33750
34000
Question not attempted / H@ﬁﬁﬁ B

How many images of an object are formed when
it is placed between two parallel mirrors, facing
their reflecting surfaces?

Choose the most appropriate answer from the
options given below:
(A) One

(C) Four (D)
(E)  Question not attempted

afe foreft &g T a1 UH HHTIAR qUUTt o sff=r & L@
ST Sf+1 T SRTeTl-1 Tieie Ueh O o qee e, il o
o fera wfdfeier s €2

frfafead faeredt 4 & waifas 3ag® ST I
(A) T B) @&

(€ =X (D) 3w

(E) 3Tl =1

Two

(B)

Infinite

An object is placed at a distance of 60 cm in front
of a plane mirror. What will be the distance
between the object and image formed by the

mirror?

Teh GHAA GV o A ATS Foreft a6 1 60 cm T
I T@T ST, |l e ST 390 g S ATt 38eh
Sfifter 35 frer o1 gt el o

Choose the most appropriate answer from the
options given below:

frfafead faeredt # & @aifaes Iag® ST IA:
(A) 60cm (B) 100cm

(C) 120cm (D) 150 cm

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

X
k%
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What will be the number of images formed for an
object placed in between the two plane mirrors

placed at an angle of 60° between them?

Teh GO H 60° o 10T 0 @ 31 HAel GUull o sffer
Teora aeq o a1 ATt Wfcifofalt sht EEAT fohat T

Choose the most appropriate answer from the

options given below:

frfafad foepeat 9 @ waifae U3 3T I:
A 3

B) 4

©) 5

D) 6

(E)  Question not attempted / ST T4

A spherical mirror in which the outwardly curved
part works as a reflector is called :
Choose the most appropriate answer from the

options given below:

(A) Plane mirror

(B) Parabolic mirror

(C) Concave mirror

(D) Convex mirror

(E)  Question not attempted

T T FU0T, SRTeT ST sht 3R afshd W T
e ShT Wifd T LT B, I8 FEATdl &

frfafad fasreat # @ waifae 3agw® ST T
(A) HHASA YT
(B) WA (Heifelsh) U
(C) Fadae guur
(D) A U
(E) 3Idia g
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The branch of Biology which deals with the study
of heredity and variation is called:

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

Stafas™ i a8 T e ATEREw SR
fafRr=ramet 1 Srezrar fopam ST 2, et 2-
Friferfia fashed & warifores suge 30 3.
(A) S

(B) s

(C)  wTferar

(D) SFH Safas™

(E) Srgaiaug

Inheritance
Genetics
Dominance

Reproductive biology

Which of the following is not a function of blood?
Choose the most appropriate answer from the
options given below:

(A) Production of enzymes for digestion of
food

(B) Exchange of O, and CO, between
environment and the tissues

©
(D)

Transport of hormones

Excretion of the waste products out of the
body

(E)  Question not attempted
frefafed & & w 1 wiF-ar & 78 2
frfafiaa faeredt o & gaifas 3ug® ST IH:
(A) IS o UTeH o foTT U138 Sea=T &hiAT

(B)  ATATERTT 37 Idshi o sft" O, 3T CO, &
farfemer s

BT T aReT

IR Y STURTY gaTert 1 st

CRNICRE]

©
(D)
(E)

X
k%
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Hormone insulin is produced in-
Choose the most appropriate answer from the

options given below:

(A) Liver (B) Pancreas

(C) Gallbladder (D) Adrenal gland
(E)  Question not attempted

SO i T 3eaTa BT 8-

frfafad fasreat 7 @ waffae 3agw® SR TH:
(A)  FFd (e &

(B) TR (fshamen) A

(C) T (e sty

(D) 3feerh (afgren Hfr |

(E) rgaid o

A shopkeeper bought ball pens at the rate of 8 for
T 40. How many ball pens should he sell for ¥ 30

in order to earn 20% profit?

Teh GHMER A X 40 8 sh & H aiferud Gl 20%
AT TSI o o foTe 38 T 30 H forda siieraa s=
Sl

A 4 B) 5
<€ 6 o 7
(E)  Question not attempted / 31@?!‘&?[ Iq

A shopkeeper sold 2 bedcovers at ¥ 594 each. He
earned 10% profit on one and lost 10% on the

other. Whatis his overall profit or loss percentage?

(A) No profit, no loss

(B) 1% loss

(C) 1% profit

(D) 2% profit

(E)  Question not attempted

Teh GG A 2 SITEL, Tedieh o X 594 H S| Th 0
3 10% AT g1 3R o T 10% B g8l FA

ToreTrent SeRt @ 31era BT wfera . 22
(A) TAMTEIT
(B) 1%FTI
(C) 1%
(D) 2%dTd
(E) 3rgaid 9
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A shopkeeper sold an item at a profit of 17.5%. If
he had bought it at 8% less price and sold it at
30% profit, he would have earned ¥ 202 more as
profit. Cost price of the item is:

Ueh TR - RIS T 17.5% 14 W sf=i| e 36
T8 T 8% ¥ T TG BT ST 30% ST W
SIft Bl T 3 T 202 3R ST T g3 BTl 9]
1 h T &

(A) T2000 (B) T 1980

(©) T 1960 (D) T 1900

(E)  Question not attempted / H@ﬁﬁﬁ Iq

Grass-eating animals quickly swallow the grass
and store it in a part of their body called:

Choose the most appropriate answer from the
options given below:

(A)
©
(E)  Question not attempted

T @ STl U] it & B T o 36 T U
T H T Ad ST 2| $9 91T i had &
frfafaa faeredt o & @aifaes 3ag® 3T IA:
(A) ®F (B) Wl

(C) VI3 (D) ndEq

(E) rfaiayd

Rumen

(B)

Small intestine (D)

Oesophagus

Omasum

Extra feeding of pregnant cow should be done

after of pregnancy.

Choose the most appropriate answer from the

options given below:

(A) 1 month (B) 3 months

©) (D) 20 days

(E)  Question not attempted

T T W AR WS THiEeT &
T fe=m ST =ty

frfafeaa faeredt § & @aifaes 39g® ST IA:

(A) 199 (B) 399

(C) 6um D) 20fF

(E) Srgaiaug

6 months

X
k3
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Which of the following is not a wildlife sanctuary
of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Sajjangarh wildlife sanctuary
(B) Ramsagar wildlife sanctuary

(C) Parasnath wildlife sanctuary

(D) Van Vihar wildlife sanctuary
(E)  Question not attempted

frafafad & & HH-91 977 Sia STHEReT TSE
T T &2

frfaiad foredt 7 @ @aifae 3ugw 3ot I1:
(A)
(B)
©
(D)
(E)

GG I ST STHIRTY
THETR I Sitel IR0
AT I ST STHIRTT
I fer a1 Sfia snrmoa
TN T

‘Statio Shiv Shakti’ or ‘Shiv Shakti Point’ is the
name of:
Choose the most appropriate answer from the

options given below:

(A) An Indian Point in Atlantic Ocean
(B) A Space Station on Mars
(C)  An Indian Station in Antarctica
(D) The landing site of Chandrayan -3’s
Vikram lander
(E)  Question not attempted
o wfts SRt a7 fore oo forg e 22
Fretferfiae bt & & watfores sugw o0
(A) I HETENR H Ueh WA feig
(B) TS UE W Ueh ified €9
(C)  3iTehidehT H Ueh WA T29H
(D) I5AM-3 o foshd et T Al T
(E) 3Iqdia g4
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In which state NLC India limited (NLC) has
secured 810 MW Grid
photovoltaic project October, 20237

connected solar

Choose the most appropriate answer from the

options given below:

(A) Madhya Pradesh

(B) Rajasthan

(C) Sikkim

(D) Tamil Nadu

(E)  Question not attempted

T U HT 3fem fafies (NLC) o 3R, 2023
fore T 7 810 AT TS @ ST € BrREIced
farsteft af ST et s 82

frfafaa fosredt 3 & waffirs Sw s T:
(A) TET T

(B) USEIN

(C) fTafeera

(D)  dftrerTg

(E) 3Tl o1

Examples of infectious diseases include:

a. Cancer

b. Cholera

c. Arthritis

d. Swine flue

Choose the most appropriate answer from the

options given below:

(A) a,banddonly (B) b,canddonly
(C) banddonly (D) a,bandconly
(E)  Question not attempted
HEHTHE LT o SATEL0N H HHHATTd o:
a.  HE
b. & (FIHT)
c. e (mefugiem)
d.  WEAwRL
e foq T forshedt 7 @ waifere 3uge St 4|
(A) Haeda, b3 d (B) Hadb, c3Md
(C) *IAbIRd (D) ohdcta, b3Wc
(E) Srgaiaug

TUV - C09 | ***
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Choose the mismatched pair with reference to
waste management.

Choose the most appropriate answer from the
options given below:

A)
(B)
©)
(D)
(E)  Question not attempted

HUTTE TeeT o Fex H 36 JH T =3 HITC S
gaferd 72 2

Frmeferfea faeredt # & warffires sugw 3 3,
(A) % ST — U &

(B) Y - digehelt sfeama

(C)  Tefercer &mf — dshitra sk, gear

(D) = & — et wared

(E) 3Igdia gy

Which of the following diseases are not caused

Textile industry - waste fibers
Agriculture - pesticide run off
Medical sector - infected tissue, syringes

Household source - radioactive substances

by bacteria?

a. Tuberculosis
b. Polio

c. Measles

d. Typhoid

e. Malaria

Choose the most appropriate answer from the

options given below:

(A) a,bandconly (B) b,canddonly
(C) b,candeonly (D) c,dandeonly
(E)  Question not attempted

fefofiad o & -8 1 Stamoetl & 7& 8 &2
a. UG (TTEHANEE)

b.  diferar

c. TEY (HiSed)

d. TEHEE

e.  mo@ET

et fow T forehed # @ waifaes 3ugw 3ot 94l
(A) FaTa, b3 c (B) Hadb,c3Nd
(C) *adAb,c3Me (D) Hadc,d e
(E)  3Igdita o
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Which of the following states does not share its
boundary with Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
fAfaRad & & F-91 TST TSEI™ & 1o 379
HIHT 2T QT TET LT

Fretfesfiae bt 8 & watfires sugw a0
(A) IR

(B) HERS

(C€) d§=

(D) =femm

(E) i yy

Uttar Pradesh
Mabharashtra
Punjab
Haryana

Question not attempted

Rajasthan shares its North Western and Western
boundary with which country?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
TS T+ T arere} ST afert € forg e ok
T ATHT AT 22

et frsbedt & & wraffores Sugw S o
(A) T

(B) TfeoREd

(€) ==

(D) STHMEN

(E) 3rgaid 9

Nepal
Pakistan
China
Afghanistan

Question not attempted

X
k3
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The South Eastern Plateau region of Rajasthan is
also known as:
Choose the most appropriate answer from the

options given below:

(A) Hadoti Plateau

(B) Bundi Plateau

(C) Bundelkhand Plateau
(D) Mewar hills

(E)  Question not attempted

TSTET % Sre0T qf TaTT &1 1 36 A1 & T ST
ST 2:

frfaRaa fosredt # @ waifae 3ugw € 91
(A) ESHTUBR

(B) TR

(C)  FRTRITS UBR

(D) HdTE TRrel

(E) rgaid 9

The place from where the Banas river originates
is known as:
Choose the most appropriate answer from the

options given below:

(A) Mountain of Nagg

(B) Minda

(C) Janapav hills

(D) Bheroka Math

(E)  Question not attempted

T e STeT ¥ feretd! ®, 98 Tl STl 2
frfafad fosreat # @ watfas sagw S0 TH:
(A) ATTURTS

B) faver

(C) SRS FETEt

(D) AUHTHS

(E) I o
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